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a3k - 60 %k 3k %k ok
Y 7K mBq/L [i:2) ¥ — 65 %k sk %k %k
UL - 137 2.0 ~ 2.3 %k ok ~ 8.9
UL - 144 %k sk %k sk ~ 2.3
a3k = 60 * sk * sk ~ 0.63
Wi Bt | Ba/kg | 8- 65 ok ok * %
w4 [T - 137 1.3 ~ 3.1 * % ~ 16
U LA - 144 %k sk %k sk ~ 35
a3k - 60 %k 3k %k ok
| Ba/kg | S0 - 65 ok ok ok ok
BT A - 137 0. 086 ~ 0.16 %k ok ~ 0.37
UL - 144 %k sk %k sk ~ 0.48
a3k - 60 %k 3k %k ok
t 5 | Bq/kg | $n — 65 sk %k % %k
BV T A - 137 * * ~ 0.63
UL - 144 %k sk %k sk
a3k - 60 %k 3k %k ok
27 W% | Bg/kg it} $h — 65 LS % %
S HA BV T A - 137 * * ~ 0.13
U LA - 144 %k sk %k sk ~ 2.7
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